ANRANIZETH5H6FET A RDILEIFS
BINERAOFEELRIEH . REAH. REABIIROELYTT,
(BBISOWTIE, FM6EFTEEE. FMSEIIHEETT .)

ERIIEEA BREBR EEIN-TN

E i [H6HE | FHSFE | FFI64F | FFSFE | FF6F | FFSHFE
1A~7R|11B~7R|{1B~7R(1A~7R|1A~7R|1B~7A

Bl & L B O# 3,121 2,676 1,777 1,472 880 809
X| E e[t! 26 12 23 11 20 15
3 A 2 2 2 2 2 2
o8 4 3 4 3 3 3 7
ke X 6 2 3 2 3 1
TR EMHXF 15 4 15 4 12 5
#H = £t 276 278 247 229 260 254
X 2 £ H & & - - - - - -
= 17 156 156 140 134 155 151
5 == 82 84 80 68 84 74
B pi=] 31 31 22 21 19 20
= ng) 7 7 5 6 2 9
% % g[t! 2,203 1,910 1,247 1,063 421 404
= A = 285 251 143 250 59 53
®E U ¥ B 581 523 66 31 31 17
EF £ A K 1,337 1,136 1,038 782 331 334
y3l e L 207 145 83 69 57 59
i HR 185 120 65 55 43 48
1 8 10 11 7 6 8 5
% = 12 14 11 8 6 6
5 i - - - - - -
HotAFFLSE - - - - - -
=] £ - - - - - -
) & L 90 32 71 22 45 20
RE £} - - - - - -
TREhHWVLED 28 19 22 14 17 15
NERbHbWLWHE D 13 9 10 7 6 4
bWLWE2F 0 2 1 2 1 2 1
TR EIR SN E & 47 3 37 - 20 -
T DD FEIL 319 299 106 78 77 57
G OB B W i 4 70 39 33 26 26 23
NHBMITHE 8 6 8 4 7 3
£ B & A 20 30 7 16 9 8
® B B £ 1 1 2 - 4 -
BERZH - AB%E 4 - 3 1 4 2
% &R %F 2 - 2 - 2 -
=Y B R % 177 192 28 13 14 6
z ) fth 37 31 23 18 11 15




